The need for adjusting entries

The income statement of a business reports all revenues earned and all
expenses incurred to generate those revenues during a given period. If the
income statement does not report all revenues and expenses it is incomplete and
possibly misleading. Similarly a balance sheet that does not report all of entities
assets, liabilities and owner's equity at the specific point in time maybe
misleading. Each adjusting entry has a dual purpose.

1- To make income statement report the proper revenue or expense.
2- To make the balance sheet report the proper asset or liabilities.

Thus every adjusting entry affects, one income statement account and one
balance sheet account.
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1- Prepaid insurance.

Rapid company purchased on account an insurance policy on it's trucks for the
period December 1, 2010, to December 1, 2011, $2400. 2400/ 12 =200

2- Supplies.

On December 4, 2010, Rapid company purchased supplies for $ 1400 on cash.
An actual physical inventory at the end of the month showed that only $900 of
supplies were on hand at that time. 1400 — 900 = 500

3- Prepaid rent.

Rapid company paid $ 1200 rent in advance on December 1, 2010 to cover a
three month. 1200 / 3 =400

Date Description Debit Credit
1 Prepaid insurance 2400
Accounts payable 2400
2 Insurance expense 200
Prepaid insurance 200
3 Supplies 1400
Cash 1400
4 Supplies expense 500
Supplies 500
5 Prepaid rent 1200
Cash 1200
6 Rent expense 400
Prepaid rent 400




Depreciation
The three factors involved in computing depreciation expense are:
1- Asset cost.

The asset cost is the amount that a company paid to purchase the depreciable
asset.

2- Estimated salvage value (scrap value).

The estimated salvage value is the amount that the asset can probably be sold
for at the end of it’s estimated useful life.

3- Estimated useful life.

The estimated useful life of an asset is the estimated number of time periods that
a company con make use of the asset.
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4- Rapid company purchased four trucks at a cost of $40000 the estimated
salvage value for each truck was $1000. The useful life of each truck was
estimated to be four years.

Asset — Estimated salvage value
Annual Depreciation =

Estimated number years of useful life

C-S 40000 - 4000
D= = = 9000 per years.
N 4

9000 / 12 =750 per month.

5- Unearned fees.

On December 7 Rapid company received $4500 from a customer in payment for
future services. If we assume that one third of the $4500 has been earned by
December 31. 4500/3 = 1500

6- Unbilled fees.

Rapid company performed $1000 of services on account in the last few days of
December.

7- Salaries.

Rapid company paid $3600 of salaries on Friday, December 28, 2010 to cover
the first four weeks of December.

3600/4 =900
900/5=180



Date Description Debit Credit

7 Trucks 40000

Cash 40000
8 Depreciation expense 750

Accumulated depreciation 750
9 Cash 4500

Unearned fees 4500
10 Unearned fees 1500

Revenue 1500
11 Accounts receivable 1000

Revenue 1000
12 Salaries expense 3600

Cash 3600
13 Salaries expense 180

Salaries payable 180

The work sheet

The work sheet is a columnar sheet of paper on which accountants have
summarized information needed to make the adjusting and closing entries and
to prepare the financial statements. A work sheet is only a tool used by the
accounting records. Therefore work sheet may vary in format and are usually
prepared in pencil so that errors can be easily corrected. Work sheet may be
used each time financial statements are prepared, monthly, quarterly, or at the
end accounting year.
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The steps in preparing the work sheet are listed below:

1- Enter the titles and balances of ledger accounts in the trial balance
columns.

2- Enter adjustments in the adjustments columns.

3- Enter adjusted account balances in the adjusted trial balance.

4- Extend adjusted balances of revenue and expense accounts from the
adjusted trial balance columns to the income statement columns.

5- Extend adjusted balances of asset, liability and owner's equity. Accounts
from the adjusted trial balance columns to the balance sheet columns.

2w O i g8 23 T o 4 5 2,315 s SN0

stalol Sl laggiw jo |y U5 8s glaclus sleoaile 5 olsie S o)y )

00 ol ygiw jo |y Olodol asS o)lg =Y

00l Pl colosl 515 50 1, oo Mol slaslus saile 0S8l -

4 0ad ol iulejl 515 slaygiw 51Ty e Clas 5wl ,s goads 2ol sdile dumay aslsl -F
10k 9 09w &5 Slagygie

—imlosl 55 g 51 slaew Glolo Gsii> 5 oy ol)ls oo ol (sodile dumay dnlsl -0

sl 5 sl gt 4y ool ZLo

The closing process is:

1- The act of transferring the balances in the revenue and expense accounts
to clearing account called income summary and then to owner's capital.



2- The act of transferring the balance in the owner's drawing account to the
owner's capital account. The closing process reduces revenue, expense
and owner's drawing account balances to zero so they will be ready to
receive data for the next accounting period. The closing process may be
performed monthly or annually.
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There are four basic steps in the closing process:

1- Closing the revenue account(s): the balances in the revenue accounts are
transferred to a clearing account called income summary.

2- Closing the expense account(s): the balances in the expense account are
transferred to a clearing account called income summary.

3- Closing the income summary account: the balance of the income
summary account is transferred to the owner's capital account.

4- Closing the owner's drawing account: the balance of the owner's drawing
account is transferred to the owner's capital account.
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Merchandise inventory

In a mercantile business, inventory is merchandise that is held for resale.
In a manufacturing business, there will usually will be inventories of:

1- Raw material
2- Goods in process
3- Finished goods
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Periodic and perpetual methods of inventory

1- Periodic method: under the periodic method inventory is physically
counted at regular in tervals (Annually, quarterly and monthly)

2- Perpetual method: the perpetual method is generally used, when units are
of relatively high value.
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Determining inventory

When, as is often the case in mercantile business, inventory consist of
inidentical articles purchased at different times and at different unit prices, the
problem arises as to how to assign a cost to each inventory item. This problem
is commonly resolved by use of one or another of five methods, which will be
in dividually described below. In all examples given, the following date will be
used:

Date Type Units Unit cost total amount
Jan 1 inventory 100 $6 $ 600
Feb 5 purchases 150 8 1200
Apr 10 purchases 200 9 1800
Sep 25 purchases 250 10 2500
700 $ 6100

It will also be assumed that a physical inventory o December 31, shows
320 units on hand.
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Method 1. First In First Qut (FIFO)

Here the assumption is that the goods are sold in the order which they
were received. Under FIFO, goods on hand are considered to be those most
lately received. Therefore the 320 units on hand at the end of the year would be
costed as follows:

Units Units cost Total amount
250 $ 10 2500

70 9 630

320 $ 3130
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Method 2. Last In First Out (LIFO)

It is assumed that goods are sold in reverse order of receipt. Under LIFO,
the inventory at the end of the period is considered to be merchandise purchased
in the first part of the period. The cost of the 320 units on hand would be
calculated as:

Units Units cost Total amount
100 $6 600

150 8 1200
70 9 630

320 $ 2430
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Method 3. Weighted average

In this method a weighted average unit cost is obtained by dividing the
total cost of goods available for sale during the inventory period by the total
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number of units of the goods. According to the data, the 700 unit of available
goods cost a total of $ 6100 therefore:

6100/700=%8.71
8.71 * 320 = 2787
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Fixed assets: These assets are not held for sale in the ordinary course of
business. Land, buildings, machinery and equipment.

Depreciation: Depreciation decreases the fixed assets book value and also
decrease capital. Depreciation is considered an operating expense of the
business.
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Method of depreciation
1- Straight — line — method:

The straight line method is the simplest and most widely used depreciation
method. Under this method an equal portion of the cost of the asset is allocated
to each period of use. The periodic charge is:

Cost — Scrap value

Annual depreciation =
Useful life

Cost of machine =$ 17000
c-s 17000 - 2000

Scrap value = 2000 D= =3000
N 5
Estimated useful life = 5 years
Date Description Debit Credit
1 depreciation expense 3000
Accumulated depreciation 3000
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2- Sum — of — the — years — digits — method:

The years of the assets lifetime are labeled 1, 2, 3, etc, and the depreciation
amounts are based on a series of fraction having the sum of the years™ digits as
the common denominator. The largest digit is used as the numerator for the first
year, the next largest digit for the second year, and so forth.
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Example:

Cost of machine: $ 17000

Scrap value: 2000 1+2+3+4+5=15

Useful life: 5 years

Year Fraction Amount Depreciation
1 5/15 15000 5000
2 4/15 15000 4000
3 3/15 15000 3000
4 2/15 15000 2000
5 1/15 15000 1000
(m+1)-d 56+1)
D=(C-S)* ——MM — y= — =15
y 2
G+D-1 5
D1 = (17000 — 2000) ¥ ——=15000 * =5000

15 15
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G+1)-2 4

D2 = (17000 — 2000) * ——————= 15000 * —— = 4000
15 15
(5+1)-3 3

D3 = (17000 — 2000) * ——————= 15000 * —— = 3000
15 15
(5+1)-4 2

D4 = (17000 — 2000) * ————— = 15000 * —— = 2000
15 15
(5+1)-5 1

Ds = (17000 — 2000) * —————= 15000 * ——= 1000
15 15

3- Double — Declining — Balance — method:

The double — declining — balance method produces the highest amount of
depreciation in the earlier years. It does not recognize scrap value.

17000 * %20 = 3400
17000 — 3400 * %20 = 2720
17000 — (3400 + 2720) * %20 = 2176
17000 — (3400 + 2720 + 2176) * %20 = 1741
17000 — (3400 + 2720 + 2176 + 1741) * %20 = 1393
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